
 

 

Answer on Question #34559 – Math – Statistics and Probability 

The quartiles of a normal distribution are 10 and 18 respectively. Find the approximate 

mean and standard deviation of the distribution? 

 

Solution 

We know that 𝑄1 = 10 and 𝑄3 = 18 are quartiles of normal distribution.  

Since normal distribution is symmetric, the mean equals   

𝜇 =
𝑄1 + 𝑄3

2
=
10 + 18

2
= 14 

Now we know that 

𝑃(𝜉 < 𝑄1) = 0.25 

Here 𝜉 has normal distribution with parameters which we want to find.  

𝑃(𝜉 < 𝑄1) = Φ(
𝑄1 − 𝜇

𝜎
) = Φ(

10 − 14

𝜎
) = 0.25 

−
4

𝜎
= Φ−1(0.25) = −0.67449 

Value of Φ−1(0.25) can be found in any table of standard normal distribution. 

So 

𝜎 =
4

0.67449
= 5.93041 

So parameters of normal distribution are: mean = 14 and  

standard deviation = 5.93041. 
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